20179 3/4%7)
NBBNBY DN

2017. 6.

¢ PR R



I. 2714 %(BSI

B 4w a A9 el &AskE 100970 AxdAE ddew A
T2017d 3/4%7] 71971 EAL SOl whE™ 2017 3/4%7] 7194487
AAAFBSDE HE71(88.9) tH] 4.9%RJE e 84.002 FApE o],
AAQBAZY Bagt A7 A NN wAe ] ofHe Ao gt

A
N

3, 2/457] BSI AAX+= 75.50% o H3] G FFoA A RAME HY
A 7149 A Aol mlg- oy FEAS BT

<A - =AY A7 A% BSI =o|>

140
130
120
110

100 849.5
843 883 853 88.9 94.0

20 79.4 77.8 77.4 75 5 76.5
B0

;g 738 785 .o 513 745 765 745 757 752 755
50
40
30
20
10

2015, 2015, 2015, 2015, 2016, 2016, 2016, 2016. 2017, 2017. 2017
1/4 2/4 3/4 a/4 1/4 2/4 /4 a/4 1/4 2/4 2/4

——H 2BsI —=—4l = BsI

1) BSI(Business Survey Index)+ 7]9E9 dFAAH7E X33t Aoz 0~200
AtolZ FAIHEM, 100s Yo v 7] 4717F ol 7] Hla] sdE 3oz
o st 719o]l ¥ &S ovlstH, 1007 vko]H 1 widjo]t},



Fo 9F 3487 A% BSIE 714 - #54%F0] 86.3, AH 61.9,
ghe - Fehag 84.2, V|E §iFo] 106.7%, A9 Fa4F5] 4717 vl
olgl g Aom Hojxr)

T8 A 3/47] 471 wdE AR, A7) 84.0, WiE e 90.7,
AuEa 92,5, A 2ol 85,002, AA Fiold 7]FX(100)E 313
B,

<F8 {4F4E - F&£4¥ BSI>

adllfll |7 20174 2017
3} = 2/4%7] AF 3/4%7] A%
A AzY 75.5 84.0
o) NA - 2= 76.5 86.3
= A £ 63.6 61.9
H i1
= 3}3} . Zal e 68.4 84.2
7] E} 100.0 106.7
A 2 A 7 75.5 84.0
1=
T il
= o 78.3 90.7
=
! A v & A 94.3 92.5
=
e gl 78.3 85.0

13



